Z:A\Clients\Associated PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\WIN 645 5200 Sliding Patio Doors\C - Drawings\TX-4269.dwg

EVALUATED FOR USE IN THE STATE OF TEXAS

ASSCLIATED MATERIALS

3773 STATE ROAD
CUYAHOGA FALLS, OH 44223

MODEL 5203/5209/5212

EXTRUDED VINYL

SLIDING PATIO DOORS
"IMPACT"

TDI DR-645

The Sliding Patio Door described herein complies with the 2018 International
Residential Code ({IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following
conditions:

1.

2.

3.

4.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment to
base material shall be beyond roof covering.

When used in areas requiring wind-borne debris protection, this product complies with
Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC and does not require
impact protection. This product meets missile level "D" and includes Wind Zone 4 as
defined in ASTM E 1996.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering analysis.
TABLE OF CONTENTS
SHEET# | DESCRIPTION
i Typical elevation, design pressures & general notes
2 Horizontal and vertical cross seclions
3 Frame anchoring
4 Bill of materials, glazing detail & components

WY H
STy, an
LR ial Y, .o
- T =R RN 53 2 o
;.3" T :ﬁ: . {9 [ 0 win
,..o‘:‘ﬂ".‘ PR v ‘s E™ b wo
G iDim O s ‘B Zr
o~ tpin W f ou 9m O
Pl 20 ol §pe 25, a8l
et SR - N SEO
oLV oizie oY NES EBga g
{,\}5-_ 154 N Nio s 5%
O¥k ., iQ: ™57 HE8 gE
Qioe, 51 2 382
QIS et Z LS 5-2 UE
ll{f“ﬁ:ﬁi ?.\@- - 5.9,‘” o%
Torraede™ & O%: FU
v Q5Z b-m
® Z 5 ° Oia
g d45 0
] 50Q¢ %‘-_‘-_‘
T 000 08
n =
8 LE ‘E
P R
I
E &K B8
8
143.5" MAX. OVERALL FRAME WIDTH cn
{1
[} [%2]
=5 | Sg
go .
3| 28
o |, =Bl
7 7 7 B |s (3
4 7 7 LSE @ %Qg
7 / ’ ) - -
E, |m @,
£ 1
[P <| <X
— e Q [ )
x 5 =~ 1o an
o I s 7 o £
T 8 el T
o
Ly o <L
= a o,
<
& | &
|
z X (@) X
[+ 4
[ Y0
>
O
><
<
= 0
n ] z
; H g
4]
/ / ! Qn
Va Va 4
L Water Bar Required w
=
<
o
o
pa
DATE: 9/13/21
ScALE:  N.T.S.
owe. BY: RW
143.5" x 94.5" 48.5" X 91.25" 42.0" X 84.75" +50.0 -50.0 CHK. BY: LFS
DRAWING NO.:
TX—4269

SHEET _1 _oF _4

© 2021 R.W. BUILDING CONSULTANTS INC.



TON} SBANVLITINSNGG aNIgTiNg "m'yd L2032 [0))

2681 L—d # NOLVALISIORY 40 ILVOLdLLyaD SNOLLOIS SSOMD SNOISIATY i
SHIIANIONI TYNOISSAOMNd 40 QMYOE SVX3L WOLNIA % IVINOZINOH Ag Jivd [ON m slzlo 2 4_
LELE'6S9'CLR ION Suoyd : =
geece M4 oot.mo> —onw xog ‘O'd \h\h@ -ATBNISSY 0 1dvd M m ~ . Q &
“ONI ‘SINVLINSNOD ONIGNING N g 1 2_
S¥00d OlLYd ONIANS ol 15|Ele X
CZLPOL# ‘I'd SVXEL JANIA g3andix3 ] o lwlE w
T'd "IPIUYSS d uocpul g peJpdedd sjuewunsog 110NgoYd = W 5 m 5
oc
o
&
e R ¢ —
25 emyor WG Z
pheasses : :.-:.::.c. ................ o — u
& oS 4 NoaNi © s
RS : - i p
OF X, &
RN 8 2
= O S
= OOk
® 2
| — <
2
= o
o} e E
= g
=D — m
= >
mw
~)(§
[
- o\ o~
NA\=
b
Q.
ik
8
o
1Y)
ol%
ac| «»
A Q|2
e 0 3le
g L -k
~
5 [] oz
- L P
g @ ﬁ O (@]
= £
RO v : H [7e]
[
y O~ (<
= |
e |
|
///W,/ _
A_U o
~ S 5
o
oz o
O
v © ) & ®r :
Z 3
> ™ 3 S
= i~
@\‘ C
e
Nee ”
2 2
> O
VA ~d
=X
S
NS
///// oz nw
T T 9 l‘l\l!\l@ m ﬂ
= IERD
—CN
Opll i ® ®
i N Q\
o
® 5 (0=
[ T8 - £
£
o 8
3= \ o &5
S 8-
A= s

Bmpegzr-x1\sBumelq - J\s100q oned Bulplis 0025 S¥9 NIM\SI00Q sse|9 Buiplis\sul J0 1daq sexa] - G\LNINVINYId PRIRDOSSYASIUBIDNZ



FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSI) \

CONCRETE ANCHOR NOTES:

WOOD (S.G. >= 0.42)

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.

104123

arsscnsrecEreRREATRERIY Sy

YNDON F. SCHMIDT

B PEPARIANCTINSPNBAREND

.
» »
Yha .t

4

T

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

A
£k
16" MAX. ’ S
N 0.C. (TYP.) ( n‘}P.) 5;@.
o
;ﬁ »
[ Tt Sj %
1 L ! | ! 4,
L Ll 0
IS
i P iy &
N L !
1 i
I 1
= b 1
2X FRAMIN || | |
(BY OTHERS) § } | {
& || THROUGH FRAME
| } | : | THROUGH ANCHOR
1 I STRAP
X | (TYP. HEAD & JAMBS)
1 .
I |
- [ i
FRAME | ] R S
N I P Eg‘f
| |1 =
N | | 0BG
[ I ~ O
oot i bl -
| | THROUGH L
: ; FRAME/ANCHOR STRAP { :
X (D) CONCRETE ¥
- L (8)woon ]
I I -
[ (TYP. SILL) I o5
|1 ] h
b R J
l | I L ! 1 1
Y //{ |
FRAME ANCHORING

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
3. Concrete anchor table:

W .
1apcoN® | /4 1-3/4" 3 4
DeWALT - - - -

ULTRACONE| 1/4 1-3/4 2-1/2 3

P.O. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

EXTRUDED VINYL
SLIDING PATIO DOORS
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

NOJ DATE

DATE: 9/13/21

ScALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-4269

SHEET _ 3 oF 4

ZA\Clients\Associated PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\WIN 645 5200 Sliding Patio Doors\C - Drawings\TX-4269.dwg

CERTIFICATE OF REGISTRATION # F—11852

REVISIONS

© 2021 R.W. BUILDING CONSULTANTS INC.




BILL OF MATERIALS 28 | GLAZING BEAD* PVC b
MEM # | DESCRIPTION MATERIAL 29 | FOAM PLUG - £3 @
B | 2X FRAMING (G >=0.42) WOOD 30 | HEAD WE/iTHERSEAL - %;.; § ‘gg
C 1/4" MAX. SHIM SPACE N 31 #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL ; V’E 2 " gi
1/4" DeWALT OR ITW CONCRETE SCREW (1-1/4" MIN. 33 | WEATHERSIRIP - g “y B2 u
D | EMBEDMENT] STEEL 34| FRAME JAMB" PVC « 2 832 33
F | #10x 2-1/2" PPH SMS (1-1/2" MIN. EMBEDMENT] STEEL 35 | WEATHERSTRIP - 57 5358 ae
G| #10x2"PPH SMS [1-1/2" MIN. EMBEDMENT) STEEL 39 | HANDLE KIT STEEL 2on b
H #10 X 5/8" FH QUADREX SCREW STEEL 40 | OPERATING PANEL SIDE STILE* PVC o g ‘: § ﬁﬁ
1 FRAME HEAD* PVC 42 | KEEPER F:'OR SCREEN - '§ g 2 o & K
2 | #8x 2-3/4" FH QUADREX WOOD SCREW STEEL 43 | #4 X 5/8" PAN HEAD QUADREX SCREW STEEL § 3¢ 2 §E
3 | WEATHERSTRIP [SCHLEGEL #HF-7522-270) - 45 | #10 X 1-3/4" PPH SCREW STEEL " § 8¢
4 THEAD TRACK* VG 46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL £ §§
= TSTIE & RALL* VG 47 | SASH COVERING CAP* PVC E SOlE
6 | SETTING BLOCK - 48 | LOCK PLUG® PVC 8
7 [ SILICONE (SIKA 552) SIICONE 50 | STILE REINFORCEMENT STEEL
8 T DURASEAL SPACER SYSTEM - 51 | #8 X 2" TRUSS HEAD QUADREX SCREW STEEL o
o TSHIM - 52 | INTERLOCK STEEL - §<ﬁ
10 T TANDEM WHEEL STEEL 53 | STILE REINFORCEMENT STEEL S| ag
11| ROLLING RAIL STEEL 55 | WATER BAR STEEL 28 | 4§
13 | SILL DUST COVER* PVC i SE (g
14 | SILLPLUG* PVC 5 3.25" - 317 | E2 |3 =5
15 | SILL WEATHERSEAL - = A3 = =T AT e S
17 | LEFT CAP FOR SILL ADAPTER* PVC — 1 = (E—T) j 5| » |§ Ly
18| RIGHT CAP FOR SILL ADAPTER* PVC dlo ool B8 0.08" — 3 S | ©
19 | #8 X 5/8' PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL I - S o o
20 | OUTSIDE SILL CLADDING STEEL ] 03 ] | e = >
22 | INSECT STOP - 1 : STILE, RAIL
23 | SCREEN - =\_A i
24 | #8 X 7/8" PAN HEAD, QUADREX, SCREW STEEL } F - y INTERLOCK
25 | FIXED PANEL ANCHOR BLOCK* PVC :g ANCHORSRAP 3 ‘j 1 08" 8 »1 108" = &
26 | ANCHOR STRAP STEEL S = l ] "
27 | SCREW CAP* PVC 2 | ] | 201" | 5
* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED _>] 087 [~ T 00 0;2{ DE}U‘ é’
BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS". N N i ] \ [ &
0.07" } REINFORCEMENT REINFORCEMENT 1
0.55 MHGT;ZIN G BEAD 50 Meeting rail 53 Sfio m
GLASS BITE *[ —— 7/8' THICK . .
GLASS L
, | 5/32" ANNEALED 5.44' - % C= =
0.090" SAFLEX PVB INTERLAYER 544" -] b S
% 5/32" ANNEALED (rﬁw )»]P W—J] - (]0 S
~— AIRSPACE Z
5/32" TEMPERED [ el deat b 00 - E oA 9,/13/21
N ] =) seAE N.T.S.
U ] . ] ” 3 () DWG. BY:  RW
G ] » ™
D = =3 CHK. BY: LFS
A I DRAWING NO.:
@ GLAZING DETAIL : FRAME HEAD ERAME SILL . FRAME JAMB TX—4269
C SHEET _4 oF _4

Z:\Clients\Associated PERMANENT\B - Texas Dept of Ins\Sliding Glass Doors\WIN 645 5200 Sliding Patio Doors\C - Drawings\TX-4269.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.




